1IX HEEHEE

CHES

¥ = (BF/HBiRE)
IiE | &5l b= b5 S B 7-8-1 7-8-1 7-8-1
= No.0~No.1 | No.1~No.2 [ No.2~No.3
BEEsT
(&1%200mm) BIEER m 152 70.0 450 36.7
ERIT
IR TEEl
EERIEA BH0.28m3 m3 275 150.7 87.4 36.7
- BAERR
EHRIER BH0.28m3 m3 39 19.9 12.7 6.0
_ AL
EHRIER BH0.28m3 m3 200 1132 63.3 236
FAETNIE MHE m3 83 417 26.8 145
INEL R ORI TR A
EERIEA BHO0.13m3 m3 -
BERA
EHRIER BHO0.13m3 m3 -
AT
EHRIER BHO0.13m3 m3 -
FELnE 2E m3 -
INEL R ORI TR A
EERIEA BH0.08m3 m3 -
BERA
EHRIER BH0.08m3 m3 -
AL
EHRIER BH0.08m3 m3 -
FELnE 2E m3 -
EmMRL
VI EEEEE LV E %Rﬂgrqs 200 m 149 69.1 44.1 36.0
aES#F PRP ¢ 200/ [Elzi 5 20 2.0 10
o M LETKER
BEEHT— 150mm X 50m 2{& m 149 69.1 44.1 36.0
EERT
4 T (BH0.28m3)
MEERT t=10cm B4EREA m3 14 73 46 2.2
HE 4 T (BHO.13m3)
BaRERT t=10cm BEHA m3 -
4 T (BH0.08m3)
BaRERT t=10cm BEHA m3 -




1IX HEEHEE EhEed
# =2 (B/BEE)
T | 5l W 8 R % B L - 7-8-1 7-8-1 7-8-1
= " |No.0~No.1|No.1~No.2| No.2~No.3
ERLIET
FILEXRRLE
FIERIRERAT H=2.0m m -
FILERIREAT H=2.5m m 115.0 70.0 450
TFILESXRIREIIRT H=2.0m m -
FILERREIIRT H=2.5m m 115.0 70.0 450
TBXRT 2R 1B m 450 450
ITBXRT BELE 2% m 70.0 70.0




TR HEHES AR
¥ =2 (Bi/BEE)
IiE | &5l b= ps BT & 7-8-1 7-8-1 7-8-1
No.0~No.1 | No.1~No.2 [ No.2~No.3
Tuik—ILT
A v R—ILT
15w h—)L

ES 'T%*z?r;t% #H 1 1

" ';r%ﬁt% #f

HESLE 25mm &

" 45mm & 1 1
REYLY H=50 &

" H=100 & 1 1

" H=150 &

ek H=300 & 1

" H=450 & 1

" H=600 &

EE H=300 &

" H=600 &

" H=900 &

EERTEE H=600 &

" H=900 &

" H=1200 & 1

" H=1500 & 1

" H=1800 &

EhR H=130 & 1 1

E&T & 1 1
JOvHiEH T 3mUT & 1 1

" 3miB~4mUT &

" AmB~5mUT &




1T HEHEE EhEd
¥ =2 (Bi/BEE)
IiE | &5l b= ps Bifr & 7-8-1 7-8-1 7-8-1
No.0~No.1 | No.1~No.2 | No.2~No.3
Tuik—ILT
NI R—)LT
EERT R—IL
= T-25 #8 1
LS & 1
SETFRAIERR & 1
TY—A2—hk H=1200 ] 1
B RUR—LEET  |2mBT & 1
ERET REHE BFT 1
BFET
Mt EMmRT
B it ¢ 150, L=3.00mKi# & 1




1TR HEHESE

EHES

¥ = (BF/HBiRE)
IiE | &5l F = b5 I B 7-8-1 7-8-1 7-8-1
= No.0~No.1| No.1~No.2 [ No.2~No.3
ftHT
SEMETIREE]
TAI7 VN EREE IR
SRR VIR 20cmBLF m 303 140.0 90.0 734
W) - ERERR
" 20cmPLF m -
TAI7 I N EREE IR
L AR R EER m2 153 735 413 319
Y- ERERR
" AELR m2 -
TAIT VMR R
" REHEER m2 -
TAT7IVMS%
ot G UBE Eh m3 8 3.7 2.4 1.6
Y -bsk
" AELR m3 -
TAT7IVha%
" REHEED m3 -
SEEIRIMREIR]
S REEIRT[AEL]
BRAET BERA t=12cm m2 153 735 473 31.9
RET
TRITIVMEZET BEBHETAIV(3) t=3cm m2 153 735 413 319
S RE I T [ERfTEER)
BRAET BERE t=11cm m2 -
RETL
TAI7IMRET BFEFHETAIV(3) t=3cm m2 -
< R—ILHIFL
25— LHIF =138 -
153 R—ILHEIFL =138 2 1 1




1IX HEEHEE EhEed
¥ = (BF/HBiRE)
I%E | fE5l B i B P
fHHT
BSRERET
TRt T
IR TEEl
EERIEA BH0.28m3 m3 195 195.4
mAL
ERER BH0.28m3 m3 180 179.9
BREET
7 EEEEE ZLE  |PRP ¢ 200 m 154 154.2
ERIET
FILEXRRLE
FILSRIREAT H=2.0m m 755 755
TFILESXRIREIIRT H=2.0m m 75.5 75.5
TBXRT 2R 1B m 755 75.5
SHEHE T (BEER M EER]
TAI7 VN EREE IR
SRR VIR 20cmBLTF m 315 315.2
TAI7 I N EREE IR
A AR R AEE m2 150 150.1
TAT7IVMS%
OB LR AEE m3 8 15
SEEIRIMREIR]
S REIRT[AEL)
BRAET BAERA t=12cm m2 150 150.1
RET
TRIFIVMEZET BEBHETAIV(3) t=3cm m2 150 150.1




IR FREE HEHESE .

% 8 (Hit/BiesE)

I#E | fE5l B i B . - &%
EET =
(&1Z150mm) BIEER m 60 60.0
HFERLT
IR TEEl
EERIEA BH0.28m3 m3 30 30.2
BERA
BERIER BH0.28m3 m3 10 9.9
mAL
BERER BH0.28m3 m3 12 125
FAETNIE AEE m3 20 19.7
INEL R ORI TR A
EERIEA BH0.13m3 m3 -
BERA
BERIER BH0.13m3 m3 -
B AL
BERIER BH0.13m3 m3 -
FAETNIE 2UE m3 -
INEL RO TR A
EERIEA BH0.08m3 m3 -
BERA
BERER BH0.08m3 m3 -
mAL
BERIER BH0.08m3 m3 -
FAETNIE 2UE m3 -

BT

VI EEEEE LV E ;a‘Rﬂgf ¢ 150 m 60
"AESHF PRP ¢ 150 (&1 -
o M LETKER
BEEHT— 150mm X 50m 2{& m -
& I

4 7 T(BH0.28m3)

MEERT t=10cm BAHA m3 4
HE 7 T(BH0.13m3)

BARERT t=10cm BEHA m3 -
4 7 T(BH0.08m3)

BARERT t=10cm BEHA m3 -




1IX REBERE HEHEE EhEed
¥ = (AF/HBiEE)
I#E | fE5l B H g 274 7-8-1
= " | No.0~No.1
/T
SEMETIREE]
TAI7 VN EREE IR
SR MR BT 20cmEL T m 120 120.0
W) - ERERR
" 20cmBL T m -
TAI7 I N EREE IR
A% R A R EEB m2 36 36.0
Y- ERERR
" AELR m2 -
TAT7 VNSRS AR
" REHEER m2 -
TAITIbR
FRB R AR = m3 1 1.4
9)-bk
" AELR m3 -
TAITIbR
" REHEED m3 -
SEEIRIMREIR]
S REEIRT[AEL]
BRAET BAERA t=12cm m2 36 36.0
RET
TAI7IMRET BFEFHETAIV(3) t=3cm m2 36 36.0
S RE I T [ERfTEER)
BRAET BAERA t=11cm m2 -
RET
TAI7IMRET BHEFHETAIV(3) t=3cm m2 -
< R—ILHIFL
25— LHIF (&1 -
15 R—ILHEIFL (&1 -




2TR HEFHEE

H = (Gi/BEE)
I#E | =5l #w B8 R 172
= % | No.0~No.1|No.1~No.2| No.2~No.3
EEran
(& #%200mm) BIER m 85 300 250 300
ERLT
1399 R IYEH
ERRIEHI BH0.28m3 m3 81 30.2 230 27.6
_ BERA
EHRIER BH0.28m3 m3 14 49 4.1 49
— RAL
EHRIER BH0.28m3 m3 51 19.5 14.2 17.0
SAE T IE 48 m3 33 119 9.8 1.8
INEL SR TR A
ERRIEHI BHO.13m3 m3 -
BERA
EHRIER BHO.13m3 m3 -
— il
EHRIER BHO.13m3 m3 -
FETnE 2tE m3 -
INEL R TR A
ERRIEHI BH0.08m3 m3 -
BERA
EHRIER BH0.08m3 m3 -
— RAL
EHRIER BHO0.08m3 m3 -
FET 0B 2tE m3 -
EMHT
V7 EEEIREE - VE ;’;gf 200 m 83 293 245 295
aESH#F PRP ¢ 200 T 1 1.0
o ¥ LET/KER
BEZHT—7 150mm X 50m 2% m 83 293 245 295
EERT
4P HE T(BH0.28m3)
BREERT t=10cm BERA m3 5 18 15 18
P HE T(BHO.13m3)
BAaE#T t=10cm BEREAE m3 -
H4HHE T(BH0.08m3)
BAaE#T t=10ecm BERE m3 -




2IX HEHEE

B = (Bit/BRIESE)
I7&E | #&5l B % 1-Tv4 N
= No.0~No.1| No.1~No.2| No.2~No.3
fFTHIT
HEHET[XER]
TA77 VMR RR
Bl 20cmBL T m 170 60.0 50.0 60.0
Y- MEE R
" 20cmBL T m -
TA77 WM RR
GE AEER m2 73 26.1 21.3 255
Y- MEE R
" AEE m2 -
TA77 WM RR
" RS m2 73 26.1 213 255
TAITIVNGR
FRIE LR AEER m3 3 1.0 0.9 10
UY)-bs%
" AEE m3 -
TAITIVNGR
" RS m3 2 08 0.6 08
SHEREI[BTESR]
TAIT MR AR
BB 20cmPA T m -
VY- MEZERR
" 20cmBLF m -
TRI7IMEZERR
SRR m2 -
VYY) -ME%ERR
" m2 -
TRI7IMEZERR
" REREED m2 -
TAI7IVEER
PSR m3 -
V-
" m3 -
TAI7 VMR
" REREER m3 -




2TR #H=E

HEE

T7& | &5

W8

B

B

o

=
£

BEt/BiRE)

P
= No.0~No.1| No.1~No.2| No.2~No.3
fFTHI
HERETIRRGHER]
TATT M EEEERR
Bl 20cmBLTF m -
U9 -MEZERR
" 20cmBPLTF m -
TAI7 IV EEEERR
GE BRER m2 -
U9 - MR R
" RRE m2 -
TAI7 IR
FE AL IR BRER m3 -
IUY)-bs%
" BRER m3 -
SEFRIREIR]
SHEREBIIAEL]
BT BERA t=11cm m2 73 26.1 213 255
®ET
TAITWMGRET BABHETAIVA3) t=3cm m2 73 26.1 21.3 255
SHERERI[ERMAEEL]
ERAET BERA t=11cm m2 -
®ET
TRITIEHET BEZRETAIV3) t=3cm m2 -
SHEBRI[(AEIR-FHE]
TREEIE m2 100
TREREE
BmiET RC-30 t=10cm m2 -
LR
" RM-30 t=10cm m2 -
=B
TAITIMRET géﬂéﬁﬁlﬁnw(zo) t=5¢cm m2 -
" ﬁE%*ﬁE?ZJ)(IS) t=5¢m m2 100
=E
" BEZRETAIV3) t=4cm m2 -
SHEBIAI[(AXEIR-5:E]
FEEE m2 -
TIERRHE
BRAEET RC-30 t=10cm m2 -
=&
TRIFMVEGHET BABHRETAIVA3) t=4cm m2 -




2TR HEFHEE

¥ = (EH/BEE)
TE | 73 W B R B & 3
No.0~No.1 [ No.1~No2| No.2~No.3
I (Z0H)
RERT
HMEER m
=ik m
S E m
< UR—ILAIA
253 R—ILAIFL (5078 1
157 R—ILHIFL (5078
BElIET
RET H= ~5.8m (5078
H= ~55m (5078
H= ~50m (5078
BB XE 1@
REIEEE/ UK 1@
90° HAE &
X m
h5— 1@
FRERST
RS (FRP) ¢ 1200 &




2IX HEHEE

B = (Bit/BiEE)
T8 | 185 M B % gl
= " No.0~No.1| No.1~No.2| No.2~No.3
INRITUR— LT
N R— L (E 8 = -
ME
A2 —k $200-¢p30di#2m KT & 1 1
" [ ST & 2 1 1
" HE 15° & -
" HE 30° & -
" HE 45° & -
" HE 60° & -
" HE 75° & -
" HE 90° & -
" ‘S’;ﬁ, 45o 1@ -
" &R 90° & -
" %% DR @ -
" = BEE & -
" FEE 90 HE & -
" =4y —b H= m -
" 7)==} & -
¢ 300 -
REgHE T-25 Vel -
¢ 300 -
" T-14 & 3 1 1 1
BIEEZ LA -
INBITUR—LERET  |iFE2mUT E130 3 1 1 1
BIEEZLE -
" ;ﬁSSmlJJ\-F %Fﬁ -
ERET Bk RRES & 3 1 1 1




